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• Bubble Sort

• or Gnome Sort
• Look at two items a and b.
• If a < b move right.
• If a > b swap and move left.
• At the first rock move right.
• At the last rock we are done.
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• findIndex ◦ unique ◦ permutations

• Want O(nk) instead of O(n!)

• Easy without duplicates:∑
i

#smaller after · (n − i)!

• Trickier with duplicates:

• Use multinomial coefficients.
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H. No Smoking, Please

• This gives a zoning (which you don’t

need)
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C. Escape from the Minefield

• Finding the widest path

• Like finding the shortest path, only use

min instead of +

• Use Dijkstra’s algorithm.



Closing Remarks

• Account contents will be emailed.

• Fotos, problem set, test sets will be

online soon.



Dinner
Time


	The Results
	

	Solutions
	I. Arctic Polar Explorer
	I. Arctic Polar Explorer
	D. Baby's Blocks
	G. Fractal Streets
	A. Penguin Bashing
	F. Dimensional Warp Drive
	E. The Pharaoh's Curse
	B. Gearbox
	B. Gearbox
	H. No Smoking, Please
	H. No Smoking, Please
	C. Escape from the Minefield
	C. Escape from the Minefield

	
	Closing remarks


